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Sr Questions Answers Choice

1 Chou En-Lai's eyes are blinded by the constant flashing of the official souvenir...........
A. Fishermen
B. Gunfire's
C. Photographers
D. Mountaineers

2 Seventy............... years old chou En-Lai will end up dislocating his right hand.
A. One
B. Two
C. Three
D. Four

3 The crowd of traders go twice yearly to the traditional.......... fair
A. Peking
B. Talwan
C. Shanghal
D. Canton

4 The ....................... certainly launched the warm hug.
A. American
B. Dutch
C. Occidentals
D. Orientals

5 The chinese may have introduced the ................ policy.
A. Weep
B. smile
C. Sigh
D. Senile

6 Political control over the masses stopped the exodus from the country side.
A. Reach
B. Setting
C. Migration
D. Inhabiting

7 The gigantic Chinese social experiment does not only concern Asia.
A. My sterious
B. Huge
C. Farmer
D. Mechanical

8 The chinses peasant does not flee to the cities.
A. See
B. Escape
C. Point
D. Welcome

9 It involves an utterly different tactic.
A. Malt
B. Rebuff
C. Approach
D. scan

10 Mao said, "Instead of thing , people are decisive".
A. Insignificant
B. Trivial
C. Influential
D. Unimportant

11 The occidental countries launched a warm hug to China.
A. Northern
B. Southern
C. Eastern
D. Western

12 That______________ of mankind is enclosed in the world's third largest country.
A. One - fourth
B. One - half
C. One third
D. One fifth

13 Chinese bamboo curtain was countered by a Western curtain of rigid.........
A. Regard
B. Disregard
C. Respect
D. Honour

14 China was even confused with a small..................... one of its provinces.

A. Sea

B. Mountain
C. Island
D. Jungle

15 For................... years China lay forgotten.
A. Ten
B. Twelve
C. Twenty two
D. Fifteen



16 The writer of the essay, "China's way to progress" is................
A. Galeazzo Santini
B. Stephen Leacock
C. David Daiches
D. Stanley Houghton

17 Ten miles are a long distance.
A. Ten mile are a long distance
B. Ten mile is a long distance
C. Ten miles is a long distance
D. Ten miles are long distance

18 The watch ends when we reached the ground.

A. The match ended when we reach
the ground.
B. The match has ended when we
reached the ground
C. The match will end when we
reached the ground
D. The match had ended when we
reached the ground

19 It is six in my watch
A. It is six at my watch
B. It is six to my watch
C. It is six by my watch
D. It is six with my watch

20 Iqbal is greater than any poet in Pakistan.

A. Iqbal is the greater than any poet
in Pakistan
B. Iqbal is greater than any poet in
the Pakistan
C. Iqbal is greater than any other
poet in Pakistan
D. Iqbal is great poet than any other
poet in Pakistan


